Entryy-Exity in TEC 005

100
90
80
70
60
50
40
30
20
10

0.0370.02 0.00 0001 0.02 003

—— Entyy-Exity in TEC -325

KS=2.58053e-24

— = Entryy-Exity in TEC -325

L R R RN RN LR RN LR LRLRE DY

Entryy-Exity in TEC 152

—— Eniny-Exity in TEC -325

7000 KS=3.49509e-36

J000
J000
J000

J000

J000

-0.03 -0.02 -0.01 0 0.01 0.02 0.03

Entryy-Exity in TEC -050

—— Eniny-Exity in TEC 325

— = Entryy-Exily in TEC -325

-0.03 -0.02 -0.01 0 0.01 0.02 0.03

Entryy-Exity in TEC -215

—— Eniny-Exity in TEC 325

7000 KS=1.24411e-18

— = Entryy-Exily in TEC -325

J000

J000

J000

J000

-0.03 -0.02 -0.01 0 0.01 0.02 0.03

Entryy-Exity in TEC 051

— Entyy-

— = Entryy-Exity in TEC -325

AP PPN P IR I I
-0.03 -0.02 -0.01 O 0.01 0.02 0.03

Entryy-Exity in TEC 225

—— Entryy-Exity in TEC 325

KS=5.95153e-

— = Entryy-Exity in TEC -325

-0.03 -0.02 -0.01 O 0.01 0.02 0.03

Entryy-Exity in TEC -105

—— Enyy-Exity in TEC 325

— = Entryy-Exity in TEC -325

-0.03 -0.02 -0.01 O 0.01 0.02 0.03

Entryy-Exity in TEC -252
5000F — e

— = Entryy-Exity in TEC -325

2000F
5000F
2000F
5000}

0000F

5000F

-0.03 -0.02 -0.01 O 0.01 0.02 0.03

Entryy-Exity in TEC 115

2000 KS=3.13719e-19
3000
2000
2000
2000
2000

2000

2000

U I I I S
-0.03 -0.02 -0.01 O 0.01 0.02 0.03

, Entryy-Exity in TEC 253
10

—— Eniryy-Exity in TEC 325

— = Entryy-Exiy in TEC -325

-0.03 -0.02 -0.01 O 0.01 0.02 0.03

Entryy-Exity in TEC -151

—— Eniryy-Exity in TEC 325

KS=8.20533e-24

— = Entryy-Exiy in TEC -325

2000

2000

J000

J000

2000

J000

-0.03 -0.02 -0.01 O 0.01 0.02 0.03

Entryy-Exity in TEC -325

—— Entryy-Exity In TEC 325

9000 = - eponrecss
0000
0000
0000
0000
0000

2000

-0.03 -0.02 -0.01 O 0.01 0.02 0.03




	Contents
	Page 1


